Bk F 8 =

BT fi 5 K B R Bl = FF oM IE T R

(&H 2 5 )



a5 AEEE AR TR B /K OB R Bl 2 R A E TR

TS EE NI O S KERNSFHMETRE (F2%5) 13, RIZEDD LI AHITED,
(% ANk 7 5 oo #ff 1E)
FBl1ad BAREHTROBBEIZKABHEENEZN 7,200 THZEBML., @ A T5HOBHEZ AR
ZNERN 40,5658 T &7 5,
2 WMARETPTHEOMEDKED X5 I OEFKX D T L ORI CIZHER O ARG THEOSREIT,
MF 1R RARETPEAME 2X5,

,\
[

S 5 4 7 H 18H H Ok

(I I = fe M R



H1 &£ o AN K

A (BAfir  TFF9)
> T OE BT o #E o= A )

1. ek OEHEE 355 4,700 5, 055

1. AHe 355 4,700 5, 055

3. EFES 4 3,185 2, 500 5, 685

1. [EES 4 3,185 2, 500 5, 685

% = # 33, 358 7,200 40, 558




ik (AL : T1)
K H OE BT o #E woOE )

o 32, 858 7,200 40, 058

WS 32, 858 7,200 40, 058

% & 33, 358 7,200 40, 558




% % MoIE T A F oI B OB M E
1 1
U N) (HEAE : TH)
K i 1E B O %A i IE 7t
1. ek OEHEEe 355 4,700 5, 055
3. [EH S 4 3, 185 2, 500 5, 685
% A & 33, 358 7, 200 40, 558




% H) (HAL - TH)
ioIE B o MO N R
K FHERTOFH i IE K iE i) i -
] VRS 4 5 & z O
1. WBE 32, 858 7, 200 40, 058 2,500 4,700
[ A& F 33, 358 7,200 40, 558 2, 500 4,700




G 1. pESEROEES (EH) 1. Als (AL 2 TH)
: : . i )
H ERTO%E 1IE %H = B iH
f i 3 - 53\ o 5
1. G KEAHEE 355 4, 700 5,055 1. /KiE LH=HAHESE 4,700 /KiE TEAHSE
= 355 4,700 5, 055
GR) 3. EHEXH4Ae EH) 1. HEXHE
1. &5 /KEEEZ 4 3,185 2,500 5,685 1. 5 /K [E & 2, 500/ i B 7Kk 18 [E i 3 H 4
Hi4
2 3,185 2, 500 5, 685




At (H) 1. R GHEAL - T
A MOIE s o BN R i
BIjD S = N =
H o fHIEAE 5 & E 1 TR . A e
4 f - L I S
EEI 4 5 EFF o
0 7,200 7, 200 2, 500 4, 700 12. & 3t ¥ 1,400 JHIER%EHEE0E
13. R 500 EEEE EE
VE R
14. THHA 5,000| KEEIHE
#
15. JERFEHE 300 TEHMBHE
32, 858 7, 200 40, 058 2, 500 4,700




